FEiLHE
K% FHE S B ko SC
50m&EkE 37.30 094k
100m¥EKRE 1:31.52 094k
200mEANA FL— 2:53.29 094k

HEIFRELRERICE T
BRERCkWEC L ZEILET

M3 E 11 A 21H
BRRAAMIVI977HmE
2R FE WA

RHENRA 2 349



FEiLHE
K& =5 v B ko SC
50m/\42 754 34. 69 10k
50m&EkE 35.74 10%k
200mEANA FL— 2:47.82 10K

%7:% T" (j:*'r nEn fi%
nafiflﬂ((:\f’ t é

= FE A

RHENRA 2 o 48]



k£ g =i B o SC
50m&EkE 38. 51 09#k
50mBEHFE 35.16 08#k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

RHENRA 2 236



K& /DN EEEMN R ki SC
50m&EikE 35. 56 094k
200mEANA FL— 2:54.85 08#k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

RHERA 2 b 331



K& /DN EEEMN R ki SC
50m&EikE 35. 56 094k
200mEANA FL— 2:54.85 08#k

BEEIHERRGRISHL
SR TKNE C & ESEL

£ FH H B

BRERAF:0



Ef HH % B E SC
50m&EkE 34.18 094k
100mBEIXET 1:14.03 084k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

RHENRA 2k 385



FEiLixe
E&Z WX = BE HZBHASC
50mBHH 31. 45 08#Kk
100mBHAE 1:09. 36 08#k

%7:%7'—' (i*‘rnan fi%‘_:jgb\
nafiflﬂ((:\f" t%EIEL/

= FE A

RHENRA 2 o 207



= A
ERHE
b hE B Gl SC
50m&ikE 34.52 094k
100mBEIXET 1:14.38 094k
50mBHH 31.74 08#Kk

HEIFRELRERICE T
BRERCkWEC L ZEILET

M3 E 11 A 21H
BRRAAMIVI977HmE
2R FE WA

RHENRA 2 408



FEiLixe
E& FH S BE HZBHASC
50m/\42 754 31. 57 09K
100mN\2 754 1:12.15 08#k
100mBH®HE 1:04. 21 094k

%7:% T" (i*‘r nEn fi%
nafiflﬂ((:\f’ t é

= FE A

FHENRA 2 ko 655



K& A =8 B o sc
50m&EikE 32.73 08k
100mBEIXET 1:10. 21 084k
200mEkE 2:33.39 08k

Bt [FEREERISHL
nafiflﬂ((:\f" t%EIEL/

= FE A

RHERA L 374



F Gl SC
50m/\42 754 29.92 10k
100mBHAE 1:01.83 104k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

RHENRA 2 749



FEiLixe
E# THEHME BE HZBHASC
50mBHH 29. 15 09K
100mBHAE 1:05.94 08#k

%7:%7'—' (i*‘rnan fi%‘_:jgb\
nafiflﬂ((:\f" t%EIEL/

= FE A

RHERA 2170



WFRRS
K4 {BiE S=E FE FEASC
200mBH 2:09.23 081k
200mEANA FL— 2:28.92 084k

BEEIHERRGRISHL
SR TKNE C & ESEL

£ FH H B

RHERA 2 b 617



5 0mBmRF 29. 62 08k
10 0mBHR# 1:04.24 083k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

RHERA 2k 318



7/ FIt E
E®2 H&t = BE #ABASC
100mEkE 1:09. 11 094k
200mBEIXRET 2:27.95 094k

%7:% T" (i*‘r nEn fi%‘_:
nafiflﬂ((:\f’ t éEIE

= FE A

RHERA L 574



= 0 F Gl sc
100mEkE 1:08.23 094k
200mEKE 2:24.22 10#%

%7:% T" (i*‘r nEn fi%‘_:
nafiflﬂ((:\f’ t éEIE

= FE A

RHERA 2k 351



T S =
= I F gl SC
50mBHRH 27.38 09%k
200mEANA FL— 2:21.20 09k

BEEIHERRGRISHL
SR TKNE C & ESEL

£ FH H B

RHERA 2 600



FERLFS
K& thHE 54 R Gl sc
100mEkE 1:05. 63 08k
200mBEIXRET 2:21.04 084k

%7:% T" (i*‘r nEn fi%‘_:
nafiflﬂ((:\f’ t éEIE

= FE A

RHENRA 2 702



FERLFS
K& Bk @3l B g sc
20 0mE]kE 2:29. 41 094k
200mEANA FL— 2:22.32 084k

%7:% T" (i*‘r nEn fi%
nafiflﬂ((:\f’ t é

= FE A

FHENRA 2 k653



K& KIEHS LY R Gl sc
100mEkE 1:07. 26 094k
50mBEHFE 28. 49 09%k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

RHENRA 2 b 647



KEEg = S B ko SC
50m&EkE 29. 09 10#%
800mBERAR 9:28.76 09%k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

ZHERA 2 o 1556



100m/I\2 754 55.70 10k
100mBEHRERE 51.60 115&k

BEEIHERRGRISHL
SR THKINEC EFTEL

£ FH H B

ZHERA 2 b 1443



K4 kO EE R g SC
50m3E]KE ZIE
100mEj]keE ZIE
200mBHRTF ZiE

Bt FERRRLICHNTLERED
B CikW=EC EZFEELFET

= FH  &ia

ZHERA 2~ 1650



FEiLixe
Kg = [ 3 R o SC
50m&EkE 28.73 11#%
200mEANA FL— 2:15. 01 115&k

%7:% T" (i*‘r nEn fi%
nafiflﬂ((:\f’ t é

= FE A

ZHERA 2~ 1828



K& £ & FfiE FHASC
50mEIKE 31.18 08:%%
200mfEAA FL— 2:31.24 08k

BEEIHERRGRISHL
SR TKNE C & ESEL

£ FH H B

ZHERA 2 b 1252






